EAGRAROBREERT — 2 N— IBISH —F

2021578228 (k) 9EIEMH2H

ol C 3= 5% 3mL ECEE Ry
[A&4£] 1 7 :500,000 @ ~ 23#%&:200,000H ~ 3#&:125,000 @ . 43#&:75,000 3 . 53 :50,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S 4 | AEREK 1:33.2 4-4-2-2 [39.6| — 2 438 | KIFfEX (i)
1178 A AXXAAH—Ly b it 54.0 (=) (+4) (#) &< 5a—KL—Y3>
L:dr7—3UF7> B:YLF-TLEVEH 1 2 X35
. A .33, 1= . = #FIEE (EE)
olglo |77 5 4 5 B 1(323)5 1-1-1-1 | 40.3 1 (4522) il
L:O-X%>J4L B:RU-—LLT1 2 =5 FH5
. s 7 | BAER 1:33.8 3-3-2-2 | 40.4| — 9 456 | EFIPE (EA)
36 IAELTE—> 54.0 (1172) () | # Tr—zrEva
LTYYSTyk BARERTTua EvILyK77-4
S e 4 5 | HEME 1:33.8 7-6-6-6 |39.9| — 3 540 | BiEE (FEH)
4 4| T12-39y>a> 6.0 (NF) (o) |EESAE
R:bE—XT—F— BAXRINXT1TF =020
# o6 | EEE— 1:33.9 8-8-7-7 [39.7| — | 10 | 435 |#EHE (%)
sp2 |/ /EDY 6.0 (3/4) (o) | ) 77— bEVa>
A4 aR—5— B:XEFTNT-X BT e]
NS, o it 3 | EAAKHE 1:34.1 5-5-5-5 |40.3| — 5 47 | EEEB (AR)
6/5|5 §/7/EI VAN *50.0 (1 1/4) -7 BN T AR
L:hT I/ RI47T BT RILF AT pzxie ]
8 B4 | FLEEX 1:34.8 8-8-7-8 |40.5| — 7 413 | =sEZ (ER)
7(8[10| X7 PV —F T 54.0 ) w3 | ) Tr-xbETa
7=V KRI-X B:byTd1—F2R ENHS
¢ : 4 6 | FHEBE— 1:34.9 10-10-10-10| 40.1 | — 6 447 | /VIIEHE (EIEH)
gl 3| 7177 —/XL—F 54.0 (3/4) o | B SEATasoE
L:7UF—v B:T7—-IKRLTF— N E%5%
ety 4 3 | B 1:34.9 2-2-2-4 |41.5| — 4 511 | tEFZ (E)
9|7l 7| KT XTI 55.0 (74%) (o) |BIEBEL
RIAYTIyva Biky hFoF— HRSH AEXF—TI
3 i #H 5 | Ai—R 1:35.0 6-7-9-9 |40.9| — 8 a7 | WOiEE ()
10011 1 Y1+ T77F% 56.0 (7€) (+6) | ZEHEES
R:x v TFo by —L Bib—tlALAt BEZ %Y K
® 1—F—@EBIERL
13—+— |9,7,6,8,5,1,4,(2,10),3
23—74— |9,7,6,8,5,4,1,(2,10),3
Jol=5r= 9,(6,7,8),5,4,(2,10),1,3
43—+ — 9,(6,8),7,5,4,2,10,1,3
[ /N
B 8 340M 714K 8-9 180 B 7-8 270M JEE 6-8-9 3,350
B B 8 120M 6-8 1,630H B = 8-9 290M B 8-9-6 12,670M
9 1304 6-9 1,060M B H 8-9 700M
6 640M

ARICOVWTRDTEEERROODE. TR LIV,




